Solution: On a certain surgical team the positions of surgeon, nurse, and tech are held by Allen, Brown, and Carr, not necessarily in that order. The nurse, who was an only child, earns the least. Carr, who married Brown’s sister, earns more than the surgeon.  What position does each person hold?  

GRID

	
	Allen
	Brown
	Carr

	Nurse
	Y
	N
	N

	Tech
	N
	N
	Y

	Surgeon
	N
	Y
	N


EXPLANATION, MARKED


Allen is nurse; Brown surgeon; and Carr tech, for the following reasons.



Since Carr earns more than the surgeon, he can be neither the surgeon nor the nurse.  So he must be the tech.


Since Carr is the tech, neither Allen nor Brown are the tech. We also know Brown has a sister, so Brown cannot be the nurse. Since Brown is neither the nurse nor the tech, Brown must be the surgeon.


Allen is neither the tech nor the surgeon, hence must be the nurse.
You might have a different explanation.  For extra practice, try diagramming mine, then check your work on the next page.

DIAGRAM OF MY EXPLANATION



Ugly, huh!  There are alternative ways to diagram my explanation.  Your way might be different and still be right. 





Brown has a sister





The more you practice and think about this stuff, the better you get!





This is the first diagram you have seen in which one premise can support two different conclusions.





Allen is nurse; Brown surgeon; and Carr tech.





Allen must be the nurse.





Allen is neither the tech nor the surgeon.





Brown must be the surgeon.





Brown is neither the nurse nor the tech.





Brown cannot be the nurse.





Neither Allen nor Brown are the tech.





Carr must be the tech.





Carr can be neither the surgeon nor the nurse.





Carr earns more than the surgeon.








